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1 A ) Svld U

Classical name Isotope

Uranium i(ifl)  ¢,;238
Uranium X-NUX; "gp Th234
Uranium x?( Xg)sipaZM
Uranium I1(un) /gy
lonium (lo) g0 Th230
Radium (Ra) 88E€a226
Radon (Rn) 8b£n222
Radium il (Rail) g, B 218
Radium B(RaB) g,PU214

5*;218

1

Half life

4.49x10™ yr
24.10 day
1.175 min
2.5x105 yr
3.0x107 yr
1622 yr

3.825 (ay
3.05 Mmin

26,8 Min

1.5 to 2.0 S3c

Classical name  Isotope Half Iif

Radium C(RaC) 83Bi214 19.7 min
Radium C'(RaC’)  gp0214 1.637xI04(
Radium C"(RaC") gy 210 1.5 min
Radium D (RaD)  gpPb210 22 yr
Radium E (RaE)  gq;;2t0 s5.02 day
PoIonium(RaPorPo)e 5 o 1383 day
g1¥ 206 4.19 min

Ura iumlead(RaG) g9 905 Stable



(2-2) t
Classical name Isotope Half life Classical name Isotope EaIf-Iifa|
Thorium (Th) oo Th232 1.39x|048yr Thorium B(ThB) 82Pb21? 10.6 hr
Mesothorium i(MsThl) 6.7 yr - gsii =0 axl0dseo i
Mesothorium l((MsThIl 6.13 hr  Thorium C(ThC) g3B 1212 60.5 mili
Radiothorium(RdTh)  gqp 1.90 yr  ThorumC'(ThC*) _, PO*2 3.04X10

Thorium X (ThX) ggR8224 ~ 3.64 day ThoriumC"(ThC") ¢ 208 51 min
Thoron (A 86%%n220 54-5 sec  Thorium Lead(ThD'Egzéb208 1 Stable
(A |

------- 3



(2 - 5) finif

Classical name Isotope Half life Classical name Isotope Half lit

J

Actino-Uranium(Aci] 92 255 |7.13x108yr ActiniumA(AcA) 1.83xIC3

04po215
Uranium Y (Y) 90Th252!125.64 hr  ActiniumS(AcB)  g9pjpyq  56.1 mi
Protactinium (Pa) 91Pa251 5.43:<1010yr - 35 219 104 sec
jictinium (Ao) 89Ac227j22.0 yr ActiniumC(AcC) §5Bm 2.1 mi
Radioactiinium(RdAc) 94%h22 |18.6 day  ActiniumC'(AcCl) 4p0211 25 sac

Actinium K (AcK) 225! 21 min ActiniumC"(AcC") 81TI207 4.79 mir:
Actinium X (AcX) 88lkh223 11.2 day  Actinium Lead(AcD 9 9p7 Stable

Actinon  (An) 86 219 3.92 sec

(2-1), (22), (29) Environmental
radioactivity 137 - 143



2.2 ?

N I An
At ?
AN - AaNAt 0 e (2.1)
\
(2.1)
N = - >Ndt (2.2)
(2.2)
In (%/i = t
N * Noexp(->t) e (2.3)
Ne | T
] %2
. J M I
T t =T N = N/2
(2.3)
T = 0.6931
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V *) NOOXP (- e (2.7)
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2.4 |
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Ti»1 - F h - 0,1 - (2-15)
Qcz T VI Y — (2-

[> - !

01 ’ | B |

Ce2 - I C | |

v Lo | B 10 G (0/
C02 (0) *0 I (2.13) (2.14) |7
chi(t) - ALo-oexp (- (2.15)

Ce2(t) * 20 l-exp(-\t)] + FA Axp(-Vit)- exp(“>bt) (2.16)

243 Y700 1A ¢ 0 A
y vy
13 13 I C I |
| AB G |
hre F K- ¢3 (2.17)

firbll - >0 ca- 1 *cI?

=\ c2- Cc3 e (2-19)
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1 k = ? A
k
|2 B *
X %
> = Il
A = B
>0 C
? . o (0) = o0, ch2(0) * 0 Cch(0) - 0
W (2.17),(2.18) (2.17) Tt M
Ay oA - ofp (g Y (2.20)
V
"1 (1) myxp(-)vyt) + Fla [faxp(Xbt)-Gxp(-Xat)N -—(2.21)
Xb—Xa '
| I
v
. N Nap (A 0Y + N« K-V WSV )
X >l
li- __oxp(-Xt)-uxp(-xt) 4 F A fexp(->1l)«oxp(-Xt)
(v>),)(v\>s X-1

(2.22)
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i (2,12) +(2.16) +(2.22)
a ) tee2(t) *el300 - (0 0V -0
N

Xraxp(--"")-oxp()i*t) + F AnN) lexp(-At)-exp()1
V c (VK -V )1 0 }
+ F fja b1 [hxp(-Xth)- exp(-X t)) ~ — (2.23)
(W £ o "
pu fpe 1 iy
! S 2ill A3 = Ae A0 * A0

A(L) * Col(t) + c02(t) + c05 (1)

P23 11
A(t) =5F A fl-exp(-At) + 2 FA fexp(->mt)-exp(A.1)]
% ! 1A '
pooxar ) Texpxt)~exp(-nan) | + . Taxpny
0 v'tycV VA Fo< v\ )esh) v

-oaxp (-At)'jo e e (2.24)
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